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Is it not so, that he did both of them together

OVERVIEW

The X723 initially assumed that 7737 ' is 28 2pn2a 779108 2nn and when he added
PP v the XX assumed that he did them together (77X 0%¥772) with the max
of 371X1 70°n. Subsequently the X n3 rejected this view and concluded that >"9 is not
2R 2P 779NR 21, but rather maintains that p7p721 VAW are also MRk, In our
text when the X3 rejected its initial view, it states that we are not discussing a
case where he did the 7R 25vn2 P7P7m VAW with 37IX) 0°7, but rather he did them
separately (Mn7¥:7 °nw2). Our Mo0IN is not satisfied with our X07°3 (in general).

- IPN T 291 DRP XY NIPONRYT ¥AUNT AW»n PYYH PN
The expression (121 172°72v7 XY °X») is not satisfactory, for it indicates that this
conjecture of >7777 772 ¥1NN% 72y, will not remain at the conclusion; but
this is not so -

= MAN )Y YN NN 2297 WHDT 1) NIPONIY
For even according to the conclusion, where the X7 explains that >'"9

considers P71 L2 to be NIAN -
= 29910 5112 Y7990 1NTAYT 2193 299N

We must also be discussing a situation where he did them both (the p7p721 v2W

and the 37X 701 respectively) together nx o7vna -
= 4099990 1152 19209979 3P IND INNY NN INN TayTa INT

For if he did >7X1 70°n separately and p7p721 021w separately, as many texts

read -
= 5529019 NN NN DIVNT DD PIDNT NODY 1929 09 NN XY NXNa

! Usually when the X723 wants to establish a case in a certain manner in order to attempt to prove something; it uses
the phrase 121 3% *X» (is it not so, etc.). However, when this is subsequently refuted, we reject the initial manner of
establishing the case and we say the case may be under different circumstances and therefore there is no proof.
Regarding our X3 when we attempted to prove that "1 is a8 Dpn2 772K 2°nn, we suggested that it was done
7nX 07vi3. In order to reject this proof, it is not necessary to say that *"1 is not discussing 1% 09v773, we can disprove
this conjecture even if we maintain that s""1 ruling is in a case of TR 0%v7; in fact according to NMOYIN we must be
discussing 7nx 0%y and nevertheless there is no proof the " is 28 QPR 7TNR M.
2 The dispute between 13127 >" is in the cases where he was 71X 0%yna LAWY 7°0n and/or TR 07v72 P77 AKX, This
is exactly the way we assumed in the X" when we said *7777 772 191 3?7 °Xn. [*"1 maintains he is 2»nw 217 since
they are separate Max, while the 13137 maintain "1 J0°2 1171 VW, they are merely M721n of X™n.
3 He was 3 W32 (379X) 70" and then realized that he transgressed and afterwards he was x1w2 (P7p72) LW.
4 This is how our X723 reads.
5 All agree that if one transgresses an 2% and its 77910 with separate M%7 that he is 271 two MRYA.
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In this case the 3229 would not argue with *", they would agree that he is 217 for
PTP7) VW, since they would obligate him because P77 VW is a 779I0.°

mooIn responds:
- 7199195092 OV 7PINNY PRT PNYY 19529 9DINY
And the °'"'1 says, we should not erase the text and it is proper to read it as in

our 0”190 that the &7n3 concludes that he did them separately -
= ARAND PIYDY P12 21909 NI TINY NN NITINT INN NTAYT BYIYY WD 19N

And this is the explanation; the X3 concludes, ‘really he did the 37X 70"
separately and the p7p71 V2w separately, and they argue, in a case where he

was aware that it is 710X, regarding the warning the o>7v give him to be nn 2»nn -
= YN 7O ‘DIVN 19299 EpTPT1MY VY DIVN IMINNY T298 NN Y2904

That according to >''2 he needs to be warned for PPy v2%2 but according to
the 3129 we warn him for 378y qo.

nvoIN clarifies:
= Y191 9112 IN9M9NY 1NTAYT INTMAY I8N NINT 121N NIN)

And granted that the X713 could have rejected the proof that °"1 is 7720K 211
2R 01Pn2 by saying that indeed he did them both (37X 70°» and p7p7™1 VW)

together (7% 0%vm2), but there is still not proof that the reason >3 is 2»nn because he is 2mn
AR D172 779NR, but rather the reason °"1 maintains that he is 21 also for 2™ is because -
— 11159 MAN 2N 920 NN’ Ay
"% maintains that these p7p72) V2 are NaNR and not M771N0; the X3 could have, but
did not, reject the proof in this manner -
= FTINY INNY NININD IND T92¥7 9INTD 19D NNT NIN

But rather it preferred to reject the proof by saying it is case where they were

® We must therefore conclude that according to the Xpon, we are discussing a case where he did them >777 >77m2
(meaning 1R 0%v12). There is now a twofold question (see ‘Thinking it over’); first the X073 in the Xipon that 77297
131 XTIM? X7 is incorrect (for in that case there would be no np17nn), and secondly the X0 in the &™i7 that X2 *Rn
777 97772 W°NON% 1T2YT is misleading for usually when we say X7 "X» in a X™7 we reject it in the RXIpon (see
footnote # 1); however here both in the "7 and R1pon it is in a case where the MaR?n were done °7772) 7R O%¥n2
*777). A preferred X0 according to Moo would presumably be a8 1pra 77N DWW 2°MAT XY KM, and the
conclusion would state reject this notion and state that >3 is (2°nw) 2°nn because p7PT™) VAW are MR, [Alternately
MooIn may prefer *"'w1 N0 that >777 7772 172122 17297 20 see 0"n.]
" See ‘Thinking it over’.
8 TP LW are NAR; one cannot warn someone transgressing one 2X, by mentioning a different 2x.
9 There is a discussion in MO previously @wn 7"7 2,3, whether it is necessary to be 770 a 287 DW» 772N or can
you be 7170 a 7770 on its own. If we assume the former then mdon here reads simply that according to the 13121 the
PP LW must be warned 3R 01 2wn. If we assume the latter, perhaps M990 means that according to the 1127
he can also be warned 3R 70°n 0w, however according to > he cannot, since PP VW are not MTAN of oM
AR, but rather M2k on their own.
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done separately (7°m21 N>y °nwa); the advantage of this approach is -
- 1ax DYPNa NTHINN 2NNT DIVN IND NN 2297 NNYL THY9 Y ONHWNT

That now (if they were done separately) perforce the reason why 3'"9 is 2mn»

0°nw is not because he is a8 2P»2 77NN 297 -
$113%) MIANT DIYN NIN

But rather because »'" are maN.

SUMMARY
The refutation that we cannot prove that >3 is 28 DPn2 77210K 27 is that the case
of n"w is by two mnovi1 and 7. They argue for which 2R are we 770 him

THINKING IT OVER

nooIn seemingly has two questions, one on the &"177 of 121 387 °&n and the other on
the Xipon of "1 7777 X% R72v7 09wh.!2 However it appears that '01n wanted to
erase only the Xipon;'® regarding the X" it was merely 2wyn NWw93 PR, but no
erasure is required. Why the difference?'

101f the dispute between 13271 >"1 is in a case where they were done 71X 07¥712, we can debate what are the reasons of
13271 ", We can say they are arguing whether one is 28 21p»2 777308 217 (the 13127 no and "1 yes), or we can say
that they argue whether »™Ww are max (°"1) or not (1127). There is nothing conclusive. However once we establish
their dispute N>y *nw3a (and in a 7> case), the only rational explanation of their argument is whether »"Ww are n1ax
(>") or not (71327). Now our X0 is correct; in the X" we assumed it was 71X 09972 therefore one can (possibly)
prove that *"1 is 28 21pn2 77NK 20, and the Xipon is that it was nmoya °nwa (and 7113) in which case it is
impossible to say the reason for 211 according to >"1 has anything to do with ax 2pn2a 779108 277,
''It is not a a8 @3p»a 777N, In this case all agree (even the 1327) that he is 0»>nw 2>n, since it was done Moy "nwa.
See footnote # 5.
12 See footnote # 6.
13 See footnote # 7.
14 See amm1 b,
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